AR 3
SHSEE EHEMEHEAATEZHRR

SF54E12A 148
MEZHAETABYE
BHHEMEEEZER A &
IE4 jmnk T TEE] IEHRE AfLER
s = b g — o ey (S R RBAILET o5& — iR E AR
/HW/‘S”—]I$ *m#%—ﬁiq]gﬂﬁzim(/ﬂmlgﬁ*$) /'él‘”JI% ﬁﬁéﬁ}%ﬁ% 6194m (ﬁﬁl{$ﬁ%ﬂﬁﬁ§,}gﬂ)
T REliAE (Bith =) IEEEME (HIRE) BHEAR BHHEFAOBESRIEBAHRRUER
51,750,000 46,810,540 SH5FE6H22H NEESEHAEE BHERXBRBESSVETZHEARI—80—1
RHoEE (BikE) IEEFOBHY TIESEHOBH
51,000,000 SHSET7A SH5FE128

ORWLBENEREESIRWDLER
EEZHEAB FWF2A4E EEBDRHEEE (BikE) 47,250,000/
r B oo B @ BHRRCSUTHEITISRENH 118, EELHET 1=,
T E 5 LD B H S5F12A8




